= o O
H & 0O & AF S 9 Al
20108 20dlah LOtS|H SAHED ~ SAHAHF Dt
A &t
M 2|2 2SN (2AH/2A2Z)
el =2 2|2 A A& P2
_ _ PSJEN==
. o9l(32) - NRAY - BAS O] & o8 01 &t on e
EEIL 5,140,351 3,537, 168 1,603, 183
= 815,986
| 327,466
= 435
& 154,887
= 3,841,577
BHo2)|& 2L (BAH/BAHoR) 3,885,253 2,279,689 1,605,564
= 777,247
| 64,650
= 435
= 74,607
i 2,968,314
2 Z oA K& 3,077,647 1,458,350 1,619,297
= 777,247
| 64,650
= 435
& 74,607
= 2,160,708
2A83E 29 JI2&| 620,201 501,400 118,801
22 A 401,439 355,550 45,889
01 AtE22|Hl 36,878 30,678 6,200
(@)=ralcli=2"] 26,228
—2% A2E 40,0002 x10&*12& 4,800
—EA=SZ 15,0002 205« 12& 3,600
—EM7d 100,000& 253 2,500
—o2222 20N 2EYA HE
1,000 *6000H * 105 6,000
—S38X B8 4G EWIIC
200,000 «18& 3,600
—&J A2 =H 31,066 *10E5+12& 3,728
— =0 2ZPAHIH HIE 100, 000& 2074 2,000
(@1=FaPNES 8,400
—29 AZEF(MYIISTE 8)
50,000 *15E 23| *5IH & 7,500
=2 A== 15,0003 x 15 +500 A+ 12& 900
OXNg2HZ2 a3 100,000& *15% 1,500
OEHX A HAY A 22= 50,0002 *15H 750
02 2224l 364,561 324,872 39,689
@)=ralsi=3C! 175,102
—&JIe3 7,700,000& = 12& 92,400
=ER= 1,000,000& x12& 12,000
—-tAe3 700,000& x12& 8,400
—SNHEH 2,000,000& 13| 2,000
—AsXHEH 500, 000& *9CH 4,500
— 2SIl 1,725,000& *45 6,900
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SN 2ARE DY
HH: PAoz)|¢ 2 (2A/22H2g)
Eel: 22012 A=Ay X (98
S FB SR (E) - NRAY - Be S Lo e 2
— oS AIDHAEE 19,000,000& * 13 19,000
—d3t 2 Stes 2,000,000& 123 24,000
—RUSLSE =2 200,000& 128 2,400
— 2 S8 3l 292,400&+58 1,462
—fldgs= 170,000& =122 2,040
(@)= FaPNEN 6,072
—&3 & SHRs 100,000& 5 A« 128 6,000
—TVRH0IEE 6,000 * 10 2+ 123 72
(@FsiN=3.] 9542 %194,866 £ *1/2 92,952
@)=Faleli=1 69,435
—Jg L ALE, )T S BN
3,083,500& 102 30,835
—dAME S S EH RA2
916,6663 20«62 11,000
—9=2&Hl X2 580,000& 208 11,600
—HAMBUHAIE 22
458,333@ x5+ 122 11,000
—22Xax A= & FHl A
1,000,000 x5J4 £ 5,000
OXtgtd et 21,000
-y 3,000, 000& =2H 6,000
— el AR 2,000,000 =104 2,000
—st= st 2,000,000 = 1CH 2,000
—BAANS XS 2,000,000 »4CH 8,000
— X 3,000,000& = 1CH 3,000
202 O 9,000 5,850 3,150
01 =AY 9,000 5,850 3,150
2AMIFR = 6,000,000& 6,000
(@)FaPNE RN 3,000,000& 3,000
207 AN 10,000 0 10,000
02 & &R 10,000 0 10,000
OSHOIX HopelgE=24d M
10,000, 000& * 14! 10,000
401 Al HI LS HHI 16,907 0 16,907
01 Al£Hl 16,907 0 16,907
O22A9 23 SBotAIAE ZHH WA
16,907,000& » 14| 16,907
405 AH&HFESHI 182,855 140,000 42,855
01 HARESF=H 182,855 140,000 42,855
O2yAb =4 Y 70,000,000 2= 140,000
OsX &34 TV WA 860,000 12CH 10,320
O2Ad9=2d FFH uwH 1,290, 000& = 10CH 12,900




SH: 2ABED
Ha: BAO2I| SYXH(2A/LAAR)
el BAD|T o|Z2 A X (e @
_ _ _ N E
SN B SRA(SIH) - MBAY - BAS 0l &k 24 o HlnE2
o= A 7 14,850,00024 *1CH 14,850
O==AD| 2ol 4,785,000 *1CH 4,785
o2 BABE 157,472 127,800 29,672
307 2I2t0IH 108,000 108,000 0
05 QI2t9IErz 108,000 108,000 0
ORARY HASY 9,000,0002! * 122 108,000
401 AlEHI2L 20 28,260 0 28,260
01 Al&t| 28,260 0 28,260
02 WEI| NSLSDHZA
5,368, ooo Al 5,368
OZAAZH HSI| MBI
4,323,0002 14! 4,323
OBAIARY 22U MBI
4,125,0002 14! 4,125
OBAARY &40 HAIH &X
6,018,000% 14! 6,018
OHAAE L, 9% S 5,500, 0002 * 14! 5,500
OB RS HX 2,926,008 %14 2,926
402 Q12X 0|H 21,212 19,800 1,412
02 QI2HCHEH ARR!H] 21,212 19,800 1,412
OFIINE or®B2| Che 792,0002 *122 9,504
OBYJ| SHFB| g 150,0008 +2CH 122 3,600
OtriorF ZHel Cf3 425,666 +122 5,108
OHAALLS §3 250,000 *122 3,000
URAA 2Y 8,640 8,640 0
307 212+0IH 8,640 8,640 0
01 2L 2| 8,640 8,640 0
ORYRHA 423 20,0008 %255 * 122 6,000
ORYRAA 92I|7 220,008 *125 2,640
I[PAUY N 870 870 0
= 435
2 435
201 LByl 350 350 0
s 175
= 175
01 AtR22lt| 350 350 0
OllSAYY 2408 2% 200,008 13| 200
= 100
2 100
ODISAYE 24D BA=Y
50,0002 *1%3 150
2 75
2 75
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SN

=

T o
M BA9

=

—_

Shol: 22403 AZAY X (Etel:&e)
SA - SR(E) - HRAY - BES 0 & 24 e HIRE
301 LptBAZ 520 520 0
= 260
= 260
10 BALAHI 2 A2 520 520 0
22 240S 10,0002 %522 520
= 260
= 260
BAXZA DYX 2AURLS X 58,320 50,976 7,344
301 LprEAR 58,320 0 58,320
01 AFBIE =453 58,320 0 58,320
ORAXEA DYX 2=2E2 X 58,320
RN 900! 400 * 128 4,320
RN 900! +600% * 128 6,480
—oIRE 4 9002 +200% * 128 2,160
—4RAEA 90021 700 * 128 7,560
—dgEga 900! 400 * 128 4,320
—BINEA 900 600 * 128 6,480
-ZFW24L 900! +700% * 128 7,560
=N 900! ¥500% * 128 5,400
SEE RN 900! +600% * 128 6,480
—ZomEA 900! +700% * 128 7,560
SN Yo X 346,800 314,400 32,400
207 1RIfeLHl 346,800 314,400 32,400
01 ¢l 346,800 314,400 32,400
oax 3,000,000%! %1%+ 122 36,000
Oxe9 1,400,0008 *12% 12 201,600
Ogerol 1,300,000 +7% * 122 109,200
2AOZY HUME 2 74,313 13,810 60,503
101 Q24| 27,617 13,810 13,807
04 JIZAH2ERNSES 27,617 13,810 13,807
OFAF JIAH2ER A=Y 27,617
—Jl=3 50,0002 x22 1202 12,000
—EReY 50,0002 %224 <262 2,600
—sasy 75,0002 %22 x272 4,050
—4 2 248,605% x2 % * 128 5,967
—ORtag 25,0002 %22 x602 3,000
201 ety 12,024 0 12,024
01 At el 4,800 0 4,800
OFYSADE(BY &ASH S)
50,0002 *45 128 2,400
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=]

4 I=1
I‘IiH: _I;I_DJQJ

=]

-

G B2012 S ALY K& (el &)
= HUE &
M- B2 S2(310) - M A S Abou e {imE=Eh
OFYELDE(Y, Z0IS)
20,0002 x10&+122 2,400
02 83224l 7,224 0 7,224
O&dAE IIAMES 500,000& «12& 6,000
OFdAY d=Jl2el 34,000 *3CH« 128 1,224
401 Al HI LS 13,772 0 13,772
01 Al£Hl 13,772 0 13,772
OBUME @ILU2 &X A
13,772,000& * 14| 13,772
405 KH&HESHI 20,900 0 20,900
01 MM =SFSHI 20,900 0 20,900
OAMEED wH 15,000,000 = 1CH 15,000
OF=H==0 &x 1,000,000 =14 1,000
OAJl &2=7I 2,900,000& =1CH 2,900
O&¥d=ss=22 24014 2,000,000 =1CH 2,000
AL 29 467,094 275,494 191,600
101 1A 137,286 40,500 96,786
04 JIZHMIZE2XNSE = 137,286 40,500 96,786
O2aAXA & dzh o1AY| 137,286
—Jl == 50,0002 *8& 180 72,000
— =Xt 50,0003 «8H x36 14,400
—5e2Fsd 75,0003 «8H x36 21,600
—4HEE 46,5783 x8H x45+ 128 17,886
—EIXELS 1,425,000& 8 11,400
307 Q12+0lH 326,808 230,494 96,314
01 eI2¥ <=l 326,808 230,494 96,314
OB24X A MSHOAF 236,940
—£3 21,8502 x16H 20 » 128 83,904
— & 21,8503 1520 « 122 78,660
=] 21,8503 * 1420 « 128 73,416
— 0oty 4,000 »1E 202« 12 960
OB2AX A stoltF 66,242
—-£3 11,0402 x9H 202 128 23,847
& 11,0403 7H»20L « 128 18,548
—2Y 11,0403 9 +202 «12& 23,847
O22AX A MESARSE 12,960
23 12,0003 105 +128 1,440
—&3 12,0002 x275+ 123 3,888
—H4 12,000 x20&5 123 2,880
-2 12,0002 x 105+ 123 1,440
— oty 12,0003 x235 122 3,312
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SN 2ABT DY
HE: PAO2I|B SYNR(BA/LAR)
SRl 22012 A X (et =3
SN EE - ER(EN) - NRAY - BaS sl e HlRE2
307 QI2t0IA 13,214 12,214
Il 5,750
< 2,239
= 5,225
01 eI2¥ <2l 13,214 12,214
OLQoXIEE AIZ22] 100,000& 11 1,100
Il 550
& 165
= 385
OLelE2AER AJYE ME 26,0003 +400H 10,400
Il 5,200
= 1,560
2 3,640
OXotEHRI Mg A2 85,700 205 1,714
= 514
= 1,200
HAXSE s22d=I12 250,000 182,000
= 250,000
101 @1 Z4H| 110,000 42,000
= 110,000
04 JIZHMIZ2XEE = 110,000 42,000
OS89z ol 110,000
—Jl=22 50,0003 x4 260 52,000
= 52,000
— =X 50,000 x4 H x52== 10,400
2 10,400
— A2t =5 9,370 *4H «36 Al 2tx 123 16,192
= 16,192
— 02t ZFe 4 25,0003 x4 B «15 x 123 18,000
= 18,000
—428 = 1,352,000 4 5,408
2 5,408
—EXFeZ 2,000,000& 4 8,000
= 8,000
405 XtobE SHI 140,000 140,000
= 140,000
01 MHARESF=H 140,000 140,000
Oos=4 140,000
—X-ray &l 130,000,000& *1CH 130,000
= 130,000
—X-ray 0lS4 10,000,000 = 1CH 10,000
= 10,000
sSHE A2 AMHIA - 960,927 960,927
= 526,363
& 54,478
= 380,086
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el
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X
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1
=
1%
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0x
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]2
=20
R
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o
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0y

401 AIEHIZ 208 948,027 0 948,027
517,763
53,588
376,676
Bl 941,796 0 941,796
611,674
1,601,586 336 M 538,133

358,755
37,131
142,247
(201) 73,541,000 %1 Al 73,541

330, 122
1,600,751 149’ 238,512
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16,457
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o
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i
S

91,610,000& » 14! 91,610
6,231 0 6,231
A= 611,674,000& *0.63% 3,854
EIRNE 330,122,000 #0.72% 2,377

03

=
O
2
=

OH 4T

O
040 om
L H

A A

TS

Y ¥

O
>~

:

405

>
[P
bl
Jn
=S

12,900 0 12,900
8.600

890
3,410
HI 12,900 0 12,900
A 22 12,900,0002 *1CH 12,900
8.600
890
3,410
28 W N 1,262 0 1,262
884
378
307 2120 A 1,262 0 1,262
884
378
262 0 1,262
Lol X2 1,262
5l 100,000 * 107H 1,000
700
300
—sZ92xY %= 26,2002 +107H 262
184
78

SBAfZ MHIA MBS 807,606 821,339 A13,733
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SA BABEY
FHE: 2A0 502 REXNA(EA/BHYE)
& EHASMEIA HB (ctel: &
S HE - S(EH) - NRAY - BES sk oy e 2
201 LetEdH| 21,200 74,993 A53,793
01 AtE22/Hl 21,200 58,308 237,108
Ote=2d =23 500,000& «12& 6,000
ORI =H| 140,000& x50H 7,000
OZgHHIIE Mel&I  25,000&+105+103 2,500
OHl= <& X2l 12,000& 200 2,400
OXQsA=E 9 S4HATD
1,000,000& »23| 2,000
OAHZZBAXNE Jl&ZE=ltl 300,000 =13 300
OoRIIE MAX MZ 500,000& *23| 1,000
202 O4Hl 6,000 5,850 150
01 =LA bl 6,000 5,850 150
OZA0 6,000,000& 6,000
2Ho=R I AHHA WS 670, 166 633, 146 37,020
101 el ] 103,587 57,750 45,837
04 JIZtHIZ2E2HEES 103,587 57,750 45,837
Ol & Hs 224 21| 103,587
—Jl2s 50,000 x5H *270 67,500
— === 50,000 x5 H x52== 13,000
—ZU2RE 25,0003 x5FH «30& 3,750
—AEE 54,529 x5 H x45 128 13,087
= = 1,250,000& x54H 6,250
307 212t01& 528,779 531,196 A2, 417
01 elg2¥d =2l 509,369 501,586 7,783
OYURAET I & &7 10,0002 «35+10004 3,000
O Z |tz 10,000 *100E *30L x 12& 360,000
Ottt o3 10,0003 »10H+20L «12& 24,000
OZAE 2tF 43,7253 x100 25 8,745
OfzEAEE & =0+ 112,624
-2l &8s 9,000 *x320&+12& 34,560
— Xt 40,0002 *30&+ 123 14,400
—ShARS 1t 10, 000& *10E »22204 22,200
—=clx=4 40,3303 x105+12& 4,840
—gadeld 200 *3,600H *358 25,200
—gAd3= 42,0003 6o =12& 3,024
—QZItA (&FA) 14,0003 x600= 8,400
OXNUEE JIE2 500,000& 224 1,000
05 BIZtRE = 19,410 29,610 A 10,200
OZAtE ot A5 &= 767,500& 128 9,210
ogade AZ M 5,000& 17021+ 12& 10,200




SN BAHSMA D
HM: SHO2) 2 2N (BAH/EHAR)
C: BAHO2MHIA H2 (&)
i} _ _ bSNE =
2N -3 - c2(3H) - NEME - HES 0] Ao @;OH Hl =2
402 BIZHR=0|A 9,600 0 9,600
02 QI2HCHEHAFRIH] 9,600 0 9,600
Oo=2x ASHHIIS 2elidl
800,000 * 122 9,600
405 KHAHE SH 28,200 44,200 A 16,000
01 ML SEFSH| 28,200 44,200 216,000
OXZ W 2 SEH| 7,500
—EKGEH X2 LIE 2,500,000 »1CH 2,500
—HUSE 2N 5,000,000 *1CH 5,000
O=22x a4 A 20,700
—CPM 10,000, 000 «1CH 10,000
—0tR0t EYHIE 5,500,000 = 1CH 5,500
— 2 OFAFRI D 1,500,000 = 1CH 1,500
— &=0FAFRI D 700,000 »1CH 700
—ZJ|IEA D 3,000,000 *1CH 3,000
QULAS K AlOIHIZ2 86,240 83,350 2,890
307 QI2tolA 86,240 81,000 5,240
01 9 2LR2H| 86,240 81,000 5,240
OUKASTE AXFIHH
2,6002 x3A1x30'H A 302 * 122 84,240
O&XtE 4D 7Y 40,0002 *50H 2,000
BAo22 NEE2 A= HE 24,000 24,000 0
307 QI2tolA 24,000 24,000 0
05 gI2+QEt=2 24,000 24,000 0
OEA2 2 ME=S EXelH
2,000,000 x128& 24,000
HASI(BEH/BAHYR) 1,121,498 1,148,899 A27,401
= 38,739
) 262,816
[= 80,280
= 739,663
g ¥ HASE 524,905 476,501 48,404
pJ 148,399
[~ 33,946
= 342,560
olgtoler 2 JI=2&H| 15,088 10,400 4,688
201 LEr2YH| 7,700 7,700 0
01 AFR22t2IH] 4,700 0 4,700
OXZHENE EE22 MZE 11,0002 +65004*45 2,600
OYdAH A2 S &I 7,000 %23 «150 2,100
02 2224l 3,000 7,700 A4,700
Oxze dAA=)| X 200,000 *10CH 2,000
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SA RABEY
Hu: AUEM(PA/LAR)
CHolr WHoY 2 ALEE (cHol a2
SMN-HHM .. AHA(SH) - MRAY - BES O AF K dd = Hlw &2
- T - = oS = =5 0:”/&,% Lsa
OdaE HHA=I| RAl 100, 000& = 10CH 1,000
202 044l 7,388 2,700 4,688
01 =LHA b 7,388 2,700 4,688
OB HHHI 4,400,000& 4,400
OY 4Ot SUBE S 66,4008 1452 2,988
S|IAHXI &S 2o =2Hl K& 50,000 50,000 0
| 25,000
& 5,000
= 20,000
307 212t01& 50,000 50,000 0
J| 25,000
= 5,000
= 20,000
01 S22 ZH| 50,000 50,000 0
O8] AL H&Xt o =Hl XA
2976192 «14F 123 50,000
| 25,000
= 5,000
= 20,000
goas N 80,489 65,867 14,622
101 eld| 14,765 11,869 2,896
04 JIZtHZ22XNSE+ 14,765 11,869 2,896
OYHA=ZZ R 22| 14,765
—Jl==3 34,0903 »2H 150 10,227
—ZtAld| 5,000& x2%x150 1,500
—F=xt=g 34,0903 x2H »28 1,910
—AEE 20, 1423 2B 4B +7E 1,128
206 =Yl 65,724 53,998 11,726
01 =4l 65,724 53,998 11,726
Oggr=ss 2 M= 65,724
—=2=2 35,000 =800 £ 28,000
—oar=E 33,000 =300 £ 9,900
—S&7MH= 65,000& »250 £ 16,250
— &2 A 11,000& 600 £ 6,600
—3% 1,485&*3,000 £ 4,455
— YR 1,730& *300 £ 519
OtEIl, &4l ol 9,460 12,550 A 3,090
& 2,840
= 6,620
201 LBt H| 7,660 12,550 24,890
= 2,300
= 5,360
01 AtSR2t2ldl 7,660 12,550 A4,890
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EA: BHEA D
M3 HYEX(P2A/2292)
el FHoY ¥ ALEH (=CRE
S BB SR (B ) - MRAY - BAS Ofl At o d 5 HR=2
- - T - = S = o = 0:”/&,% Wsa
OO0IEDl g AdA 29 7,660
—OIEIAHH A ZAISE 150,000 x103] 1,500
°c 450
o 1,050
- T2 29 116,000 103l 1,160
°c 350
o 810
—=E8 MHE 1,000 *1,0000H 2= 2,000
= 600
o 1,400
—O0IELl AN HEHE HE 300,000& x103] 3,000
= 900
o 2,100
307 QIZ2tol & 1,800 0 1,800
c 540
o 1,260
01 9 2¥2=H| 1,800 0 1,800
OOOIENNI® S XI=8l X& 360, 000& x5 H 1,800
= 540
o 1,260
HAWK ES44E T4 BHY| 70 70 0
°c 70
202 O4H] 70 70 0
= 70
01 =2Woib] 70 70 0
OsHaH E8r2 A 70,000& *1H 70
c 70
StAlE & X 22| 2,601 2,702 A 101
307 Gl2to|& 2,601 2,702 A 101
01 9z 2,601 0 2,601
Ostdly 19,7042 x11H x 128 2,601
Ay petee 30,150 4,710 25,440
307 QIz2tol & 30,150 4,710 25,440
01 2 2¥R=H| 30, 150 4.710 25,440
O&sHE T 4= 10,000 x20H x 12& 2,400
ONdEHEET} XS24 E 150,000 *5= 750
o&dgyoe 4222 27,000
—0tA3 10,0002 5008+ A 5,000
—=SEl&H 1,000 =3, 0004 3,000
—&EHIE 5,000 *5000 x2= 5,000
—=A=H 28,0002 x500= 14,000
NEF0 peES XS 78,100 68,000 10,100
307 QIz2tol & 78,100 68,000 10,100
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SN BABEY
HE: AABA(EAH/BHYEZ)
el FHoY ¥ ALEH (=CRE
S - MM .CQ(FH) - MBAIY - BAS Al OH &EIE =2}
- o= T ° . (= (=3 =5 0:”/&,% ==
01 A2 =H| 78,100 68,000 10,100
OHEEEXS 73,400
—QERAUIHRE) 8,000& *4,000 32,000
—QERAUINRE) 8,000 *4,000 32,000
—Ba 2t 4,0002 300 1,200
—2d25d 4,000& 300 1,200
—RUELdEEZ 8,000& x300H 2,400
—Ag 2+ 46,0003 1004 4,600
OWLEEMNE A22F 366,500& *3& 1,100
OZ ROt HLEEALS 10,0003 120 335 3,600
=Jt HgEs A 49,709 51,672 A 1,963
J| 24,855
= 3,582
i 21,272
101 1244l 20,289 19,824 465
| 10,145
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